Section 1, Part B Commentary
2014 Practice AP Seminar Exam

Task Overview

This question requires students to perform a close reading of two documents and to
then craft a comparative analysis and evaluation of the authors’ arguments. The
question requires students to evaluate the effectiveness of two arguments related to
America’s role in the global obesity epidemic.

Sample A
Score: Low

This response misstates the perspectives, the implications, and the limitations of the
two arguments. While it addresses the relevance and credibility of the evidence in
the two arguments, the evaluations are inaccurate and unsound. There is no clear
line of reasoning to support the superficial comparison offered at the conclusion of
the response.
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Circle the Section I question you are answering on this page.
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Section 1, Part B Commentary
2014 Practice AP Seminar Exam

Sample B
Score: Medium

This response identifies the different perspectives, implications, and limitations of
both arguments. It provides a thorough but flawed evaluation, citing logical fallacies
in the first document that do not exist. The essay adequately assesses pieces of
evidence in terms of credibility and relevance. The response clearly identifies the
authors’ lines of reasoning, but the response is limited in its discussion of
weaknesses and strengths of the authors’ arguments and offers summations rather
than analyses. Additionally, this essay contains no final comparative judgment based
upon an evaluation of the two arguments.
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Circle the Section 1 question you are answering on this page.

7 Part A Part A Part A T
Question 1 Question 2 Question 3 @“’ t B: )
F oo Wade f\u}v eonomd . TSt apenad cexnice Yo o {lead
of CA/\.LQJ\? 5\) e foed angd Seda R cr?\.' W bnked 4was o
Ne  ncxease Na) QRS CIe S\odnnc). g Slohsh ¢
Yol Sace S a Gregonend Mare  nas ‘vean O

D00 Dr&aN  ingcease 10 \'\\g{\\wbi’ﬂOSe
U

QN S\iyup SO0

(ﬂr‘o(\’\ AN US A Mg vice.'. Pn'rj\q T rochese

Comm SYIuD
g
is a qu;\?ex NO«JA I sweetenn SonmsXaune.  ana Cany 8qd

huS) (DbeS\““v:\J L nnsemed v

large oMMeods Next, Neoigis
\

quotes @ Shudey \>~5 \\\\!Qx\\—\u) of Moovesats  Ya\kipng
a GAoou A O Xe0Sed Liklvene odh of di rpf ol Weoxy
Adasease B due Yo ey, o —asd Yoaod CeSravaunds
&oﬂ\ of e Shodaes NotnS pont ‘*%ﬁgg} \O\i\)Lregthﬂ

U QT S ) ey and  Yaaue knc»(%«hunci and

gy deng to Qg\ggor*

A C\aawms e A SERCIEY MmaMe. Bopther  steact of  Neps

O MnC\e Yoy odds A

TG Cxed\b\ldj S NS \O—L\}S oot

o C\eay QY’CG&)(‘MAM Ty oA ollowss & dirend  yuise

€ aonens Gy o Conseavenes. ™S
1

ﬁr%4 yoon )y bl e

S VWOdogcut A Y\ SMQPQ(&}' Slope

L{ucycc\\ falliey

e MG KeS 3 Y\ b@.c/)mmmj s us  asncu

A\ uq}w e AeS Rvier
2 Mf\&gf GaNe fvew

n? 5,54 ‘»,«;.r\c) 4VesC  Claamd

. i \v‘fc.,{e,'\(, ‘.
verdof 4 Calse  sorse of  apabn 1 a0

23



Circle the Section I question you are answering on this page.
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Circle the Section I question you are answering on this page.
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Section 1, Part B Commentary
2014 Practice AP Seminar Exam

Sample C
Score: High

This response begins with an elegant introductory comparison between the two
documents. The response analyzes how each article presents a perspective and
recognizes that the second article is less successful in presenting alternative
perspectives by critiquing the specific sources cited as evidence. The response
addresses the credibility and the relevance of evidence used by the first article and
then successfully compares it to the relevance and credibility of the evidence in the
second article to arrive at an effective judgment in the final paragraph. The response
effectively addresses the reasoning in the two articles and address strengths and
weaknesses in each author’s argument and reasoning in order to arrive at a sound
comparison.
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Student Sample C

Circle the Section I question you are answering on this page.
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Circle the Section I question you are answering on this page.
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